

2022/05/17

Prop 1.5.5

$$(1) \left(\bigcup_{\lambda \in \Lambda} A_\lambda \right) \cap B = \bigcup_{\lambda \in \Lambda} (A_\lambda \cap B)$$

$$(c) \left[\begin{array}{l} \text{To show: } \forall x \in \left(\bigcup_{\lambda \in \Lambda} A_\lambda \right) \cap B, x \in \bigcup_{\lambda \in \Lambda} (A_\lambda \cap B) \\ \forall x \in \left(\bigcup_{\lambda \in \Lambda} A_\lambda \right) \cap B \quad \exists \lambda \in \Lambda \end{array} \right]$$

$$\left[\begin{array}{l} \text{To show: } x \in \bigcup_{\lambda \in \Lambda} (A_\lambda \cap B) \\ \text{i.e., } \exists \lambda_0 \in \Lambda : x \in A_{\lambda_0} \cap B \end{array} \right]$$

x is in B)

$$\frac{x \in \bigcup_{\lambda \in \Lambda} A_\lambda}{\text{①}} \quad \wedge \quad \frac{x \in B}{\text{②}}$$

$$\text{① \& ②} \Rightarrow \exists \lambda_0 \in \Lambda : x \in A_{\lambda_0} \cap B \quad \text{③}$$

$$\left[\text{To show: } x \in A_{\lambda_0} \cap B \right]$$

$$\text{③ \& ②} \Rightarrow x \in A_{\lambda_0} \cap B \quad //$$

$$(1) \left[\text{सिद्ध करें: } \forall x \in \bigcup_{\lambda \in \Lambda} (A_\lambda \cap B), x \in \left(\bigcup_{\lambda \in \Lambda} A_\lambda \right) \cap B \right]$$

$$\forall x \in \bigcup_{\lambda \in \Lambda} (A_\lambda \cap B) \text{ से है}$$

$$\left[\begin{array}{l} \text{सिद्ध करें: } x \in \left(\bigcup_{\lambda \in \Lambda} A_\lambda \right) \cap B \\ \text{है, } x \in \bigcup_{\lambda \in \Lambda} A_\lambda \wedge x \in B \\ \text{है } \exists \lambda_0 \in \Lambda: x \in A_{\lambda_0} \end{array} \right]$$

x का अर्थ है कि

$$\exists \lambda_0 \in \Lambda: x \in A_{\lambda_0} \cap B$$

$$\therefore x \in A_{\lambda_0} \wedge x \in B$$

$$\text{है } x \in \bigcup_{\lambda \in \Lambda} A_\lambda \wedge x \in B$$

$$\therefore x \in \left(\bigcup_{\lambda \in \Lambda} A_\lambda \right) \cap B \quad //$$

(2) सिद्ध ! //

Prop 1.5.6

$$(1) \quad \left(\bigcup_{\lambda \in \Lambda} A_{\lambda} \right)^c = \bigcap_{\lambda \in \Lambda} A_{\lambda}^c$$



(C) \Rightarrow (D) $\exists x \in \Lambda \Rightarrow \exists x$

$$x \in \left(\bigcup_{\lambda \in \Lambda} A_{\lambda} \right)^c$$

$$\Leftrightarrow \neg (x \in \bigcup_{\lambda \in \Lambda} A_{\lambda})$$

$$\Leftrightarrow \neg (\exists \lambda \in \Lambda : x \in A_{\lambda})$$

$$\Leftrightarrow \forall \lambda \in \Lambda, \underbrace{x \notin A_{\lambda}}_{\text{i.e. } x \in A_{\lambda}^c}$$

$$\Leftrightarrow x \in \bigcap_{\lambda \in \Lambda} A_{\lambda}^c \quad //$$

$$(2) \quad \text{similar} \quad //$$

Prqz 1.5.7

$$(1) \quad f\left(\bigcup_{\lambda \in \Lambda} R_\lambda\right) = \bigcup_{\lambda \in \Lambda} f(R_\lambda)$$

$$\textcircled{:} (c) \quad \left[\begin{array}{l} \exists a \in A: \forall b \in f\left(\bigcup_{\lambda \in \Lambda} R_\lambda\right), b \in \bigcup_{\lambda \in \Lambda} f(R_\lambda) \\ \forall b \in f\left(\bigcup_{\lambda \in \Lambda} R_\lambda\right) \exists a \in A \end{array} \right]$$

$$\left[\begin{array}{l} \exists a \in A: b \in \bigcup_{\lambda \in \Lambda} f(R_\lambda) \\ \text{i.e., } \exists \lambda \in \Lambda: b \in f(R_\lambda) \end{array} \right]$$

$$b \in f\left(\bigcup_{\lambda \in \Lambda} R_\lambda\right) \Leftrightarrow$$

$$\exists a \in \bigcup_{\lambda \in \Lambda} R_\lambda : b = f(a)$$

$$a \in \bigcup_{\lambda \in \Lambda} R_\lambda \Leftrightarrow$$

$$\exists \lambda \in \Lambda: a \in R_\lambda$$

$$\left[\exists a \in A: b \in f(R_\lambda) \right]$$

$$a \in R_\lambda \Leftrightarrow$$

$$b = f(a) \in f(R_\lambda) \quad //$$

$$(1) \left[\text{必要: } \forall b \in \bigcup_{\lambda \in \Lambda} f(P_\lambda), b \in f\left(\bigcup_{\lambda \in \Lambda} P_\lambda\right) \right]$$

$$\forall b \in \bigcup_{\lambda \in \Lambda} f(P_\lambda) \quad \exists \lambda \in \Lambda$$

$$\left[\begin{array}{l} \text{必要: } b \in f\left(\bigcup_{\lambda \in \Lambda} P_\lambda\right) \\ \text{即, } \exists a \in \bigcup_{\lambda \in \Lambda} P_\lambda : b = f(a) \end{array} \right]$$

$$b \in \bigcup_{\lambda \in \Lambda} f(P_\lambda) \quad \text{即}$$

$$\exists \lambda \in \Lambda : b \in f(P_\lambda)$$

$$b \in f(P_\lambda) \quad \text{即}$$

$$\exists a \in P_\lambda : b = f(a)$$

$$\text{即 } a \in P_\lambda \subset \bigcup_{\lambda \in \Lambda} P_\lambda$$

$$\left[\text{必要: } b = f(a) \right]$$

$$a \in \bigcup_{\lambda \in \Lambda} P_\lambda \quad \text{即} \quad b = f(a) \quad //$$

(2) 必要 S. //

$$(3) \quad f^{-1}\left(\bigcup_{\mu \in M} Q_{\mu}\right) = \bigcup_{\mu \in M} f^{-1}(Q_{\mu})$$

☹️ (c) $\left[\begin{array}{l} \text{证法一: } \forall a \in f^{-1}\left(\bigcup_{\mu \in M} Q_{\mu}\right), a \in \bigcup_{\mu \in M} f^{-1}(Q_{\mu}) \\ \forall a \in f^{-1}\left(\bigcup_{\mu \in M} Q_{\mu}\right) \text{ 证法.} \end{array} \right]$

$$\left[\begin{array}{l} \text{证法二: } a \in \bigcup_{\mu} f^{-1}(Q_{\mu}) \\ \text{即, } \exists \mu \in M: a \in f^{-1}(Q_{\mu}) \end{array} \right]$$

$$a \in f^{-1}\left(\bigcup Q_{\mu}\right) \text{ 故}$$

$$f(a) \in \bigcup_{\mu \in M} Q_{\mu}$$

$$\therefore \exists \mu \in M: f(a) \in Q_{\mu}$$

$$\left[\text{证法三: } a \in f^{-1}(Q_{\mu}) \right]$$

$$f(a) \in Q_{\mu} \text{ 故 } a \in f^{-1}(Q_{\mu}) //$$

$$(c) \text{ 证法三证法.} //$$

$$(4) \text{ 证法.} //$$